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Answer the following questions:نموذج إجابة                              
Q1 : (30 points):  
1- If 
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Solution:
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R(f) =(0,inf)
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D(g) = [-1,1]

R(g) =(-pi/2 , pi/2)
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2- Evalualte the following limits:

i- 
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Solution:
i- 
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2-Detrmine the inverse function of 
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Solution:
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You must check 
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Q2:  (30 points) : 
1- Sektch the function 
[image: image29.wmf]2

31

()

2

xx

fx

x

-+

=

+

 and explain the asymptotic lines.
i- Find 
[image: image30.wmf]/

dydx

 :    i- 
[image: image31.wmf]1

ln

(ln)

x

yx

=

                          ii- 
[image: image32.wmf]11

cossec

yxxhx

--

=-


2- Simplify  
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Solution:
i-
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ii- 
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Q3) (15 points) : 
1- Find 
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2- Prove that:        i-  
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Solution:
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Q4) (20 points)  
1- Evaluate: a) 
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Solution:

a) 
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c) 
[image: image53.wmf]4

3

0

(1sin2)

xdx

p

+

ò



[image: image54.wmf]2

4

2

334

1

01

11

(1sin2)(/4)

22

1

(161)15/8

8

xdxuduu

p

éù

+==

ëû

=-=

òò


d) 
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2- Find the area which lies between 
[image: image57.wmf]2

4

yax

=

 and the 
[image: image58.wmf]2

4

xay

=

 ? 
Solution:
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Q5: (20 points)
1- Evaluate :         a) 
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Solution:

a) 
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Let u = e2x ,     du = 2 e2x dx
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b) 
[image: image70.wmf]2

16

x

x

e

dx

e

-

ò


Let u = ex ,     du =  ex dx
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GOOD LUCK
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